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GCSE Business Unit 1
All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 3201 1.8 0.4 2 92.2 99.7
2 3201 1.7 0.6 2 83.6 99.7

3 a 3205 0.8 0.4 1 81.2 99.8
3 b 3194 0.9 0.3 1 87.4 99.5
3 c 3199 0.6 0.5 1 64.8 99.7
3 d 3190 0.8 0.4 1 82.4 99.4
4 a 3103 1.2 0.8 2 61.4 96.7
4 b 2973 1.2 0.7 2 60 92.6
4 c 2939 1.6 1.3 4 40 91.6

5 a i 2847 0.3 0.5 1 33.4 88.7
5 a ii 2952 0.6 0.5 1 63.7 92
5 b 3058 0.5 0.8 2 23.7 95.3
6 a 2967 1 0.9 2 48 92.4
6 b 3089 1.3 1 3 44.4 96.2
6 c 3063 0.6 0.5 1 63.3 95.4

6 d i 3037 0.8 0.4 1 81.1 94.6
6 d ii 3052 0.7 0.6 2 35.4 95.1
6 e 3068 1.2 0.8 3 40 95.6
6 f 3112 3.5 1.6 8 44.2 97

7 a i 2940 1.1 0.7 2 56.7 91.6
7 a ii 2816 1.1 0.9 2 56.5 87.7
7 b 2991 2.1 1.1 4 51.7 93.2
7 c 3049 0.8 0.7 2 39.7 95
7 d 2854 3.1 2.1 10 30.7 88.9
8 a 3081 1.3 0.8 2 66.6 96
8 b 2907 0.6 0.5 1 56 90.6
8 c 3167 0.5 0.5 1 52.7 98.7
8 d 3047 1.5 1 4 37.9 94.9
8 e 3104 2.3 1.1 4 57 96.7
8 f 3011 3.9 1.8 8 48.9 93.8
9 a 2995 1.2 0.8 3 41.5 93.3
9 b 3093 1.3 1 4 31.7 96.4
9 c 2732 0.4 0.5 1 42.8 85.1
9 d 2990 0.8 0.7 2 42.2 93.2
9 e 2950 3.6 2.1 10 36 91.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question Marks 
(c) Explain why Joseph may experience problems when operating as an ethical 


fish and chip restaurant and takeaway. 


AO3: 2 marks 


Award 1 mark for a limited analysis on the problems of being ethical. 
Award 2 marks for developed analysis on the problems of being ethical. 


Indicative content: 


Examples of limited analysis: 
It can be expensive to be ethical 
It can be hard to find ethical suppliers 
Bad reputation when things go wrong 


Examples of developed analysis 


It can be expensive to be ethical as suppliers often charge more for Fair Trade 
products as the costs are higher. 


Sourcing ethical suppliers for fish and chips may be difficult. It can be hard to 
check which food suppliers are ethical.  


If a Joseph claims to be an ethical business but gives out misleading information 
to customers then this could lead to a damaging effect on his reputation.  


AO2: 2 marks 


Award 1 mark for limited application to Joseph’s fish and chip business. 
Award 2 marks for good application to Joseph’s fish and chip business. 


Indicative content: 


Examples of limited analysis: 
Joseph may need to increase prices 
Joseph may not find suppliers 
Joseph could have problems if ethical claims are not true. 
Being ethical may not attract customers to a takeaway. 


Examples of developed analysis 
Joseph may need to increase prices or has to reduce their profit margins to 
compete. This may mean a reduction in sales or falling profits. 


Joseph may need to change the food he offers as he can’t find ethical suppliers. 


If false claims are made then Joseph’s business reputation can be damaged, 
leading to less sales and bad publicity. 


Being ethical may not attract customers to a takeaway as other factors such as 
convenience may be considered more important to the target market. 


4 4
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The candidate demonstrates limited analysis of the problems of being an ethical business (1 mark) The candidate makes two 
attempts but it is still ‘limited’. There is no attempt at application to Joseph’s fish and chip business.
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Examiner
only


4.	 Joseph Collins owns a fish and chip restaurant and takeaway in Cardiff. He recorded the 
number of customers he had each month from April to December. 


(a)	 Using the table below, calculate the average number of customers per month that 
Joseph had in his fish and chip restaurant and takeaway between April and December. 
(Show your workings.) [2]
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One of Joseph’s aims is to run an ethical business.


(b)	 Identify two ethical business practices a business could use. [2]


1.  


2.  		


(c) Explain why Joseph may experience problems when operating as an ethical fish and
chip restaurant and takeaway. [4]


Month APR MAY JUN JUL AUG SEP OCT NOV DEC


Number of 
customers 2 513 3 402 4 691 4 643 5 037 4 324 4 918 8 317 11 652
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7. (d)  Discuss how Designer Sofas UK can use the place and product aspects of the 
marketing mix to meet this aim.  [10] 


Band 
AO1 AO2 AO3 


2 5 3 


3 


There are no Band 3 
marks for this 
assessment objective 2 
marks are awarded as 
for Band 2 


5 marks 
Excellent application of 
Place and Product to 
Designer Sofas UK, online 
retailers and furniture 
businesses 
 
There is accurate, clear 
and direct reference to 
Designer Sofas UK, online 
retailers and furniture 
businesses throughout the 
discussion 


3 marks 
An excellent analysis and evaluation 
of Place and Product for Designer 
Sofas UK 
 
Writing is very well structured using 
accurate grammar, punctuation and 
spelling 
 
Well-reasoned and balanced 
discussion 
 
Clear judgements are made with 
supporting statements 


2 


2 marks 
Good knowledge and 
understanding of the 
key elements of Place 
and Product 
 
Some attempt to use 
specialist vocabulary 


3-4 marks 
Good application of Place 
and Product to Designer 
Sofas UK, online retailers 
or furniture businesses 
 
Information from the data is 
accurately used in 
development 


2 marks 
Good analysis and/or evaluation of 
Place and Product for Designer Sofas 
UK 
 
Writing is generally well structured 
using reasonably accurate grammar, 
punctuation and spelling 
 
The discussion may be unbalanced 
 
Appropriate judgements are made. 


1 


1 mark 
Limited knowledge or 
understanding of Place 
and/or Product 
 
Limited or no use of 
specialist vocabulary 


1-2 marks 
Limited application of Place 
and /or Product to Designer 
Sofas UK, online retailers 
or furniture businesses 
 
The response is mostly 
generic with brief reference 
to Designer Sofas UK, 
online retailers or furniture 
businesses 


1 mark 
Limited analysis/evaluation on how 
Designer Sofas UK could use Place 
and/or Product in the marketing of 
their business 
 
Writing shows limited evidence of 
structure but with some errors in 
grammar, punctuation and spelling 
 
The analysis lacks detail and 
superficial comments are made with 
little development 
 
Unsupported judgements are made 


0 


0 marks 
No knowledge or 
understanding of the 
4Ps 


0 marks 
No reference is made to 
Designer Sofas UK, online 
retailers or furniture 
businesses 


0 marks 
No valid analysis or evaluation  
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Indicative content: 
 
Answers could include: 
 
PLACE:  
Designer Sofas UK might decide to open physical stores – to raise awareness of the business in local 
areas/those without internet access - to encourage people who would like to see or try the furniture 
before buying it- advantages of doing so explained  
 
BUT 
increased costs of shops e.g. rent/wages etc – increasing prices – reducing profit margin 
OR 
Difficult competing with other furniture businesses with physical stores that are more well-known. e.g. 
DFS who have many shops. – may reduce prices to compete – reduction in profit margin. 
 
Candidates may also consider; 
 
Remain online only - using distribution centres etc 
 
Develop selling opportunities abroad –  
 
Developing website/app – to increase sales opportunities 
 
Sell thorough other retailers e.g. John Lewis/Amazon 
 
PRODUCT:  
Increase product portfolio - Designer Sofas UK might introduce new range of sofas/furniture products 
(in addition to sofas, chairs and tables) – to attract new market segments – increasing their target 
market  
BUT  
may find difficulty in finding suppliers for new items – cost of designing new products may increase 
costs – increasing prices etc 
OR 
new manufacturing methods may be needed – new machinery – workers with new skills – training 
costs and extra investment for the equipment- impact on prices – difficulty finding suitable staff etc 
OR 
May need to change factory to accommodate extra space needed for increased production – this may 
increase costs – change location- difficulty for existing staff to get to etc 
 
Product differentiation - May sell a luxury range/ improve quality - attracting customers that are willing 
to pay more for furniture  
BUT  
might be difficult to sell the higher priced items or to target those customers – hard to find quality 
material suppliers to meet the expectations of the customers – increased quality may increase costs – 
minimising the profit margin, despite higher prices. 
 
Candidates may also consider; 
 
Develop a USP 
 
Product design/innovation 
 
Product life-cycle 
 
Credit any other valid response. 
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The Candidate uses very general points about 'Place' which suggests they are not 
sure about the topic. The candidate makes some valid points about Product even 
though knowledge is 'limited'. The candidate is awarded 1 AO2 mark as they have 
chosen modifications that are suitable for furniture and the discussion is also 
limited and very generalised.
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Examiner
only


Designer Sofas UK ensures that it is legally responsible for its staff, for example it allows staff 
the required number of breaks in a working day. The business also has legal responsibilities 
towards its customers.


(c)	 Outline one legal responsibility Designer Sofas UK has towards its customers.    [2]


Over the next 5 years Designer Sofas UK aims to increase its market share.


(d) Discuss how Designer Sofas UK can use the place and product aspects of the
marketing mix to meet this aim. [10]
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9. (e) Discuss the opportunities and threats to Tata of operating in a global marketplace.  [10] 


Band 
AO1 AO2 AO3 


3 3 4 


3 


3 marks 
Excellent knowledge 
and understanding of 
globalisation and the 
global market 
 
Specialist vocabulary is 
used with accuracy 


3 marks 
Excellent application to 
Tata, manufacturing or 
conglomerate 
businesses 
 
There is clear and 
direct reference to 
‘Tata’ and the 
manufacturing industry 


4 marks 
An excellent discussion  of the 
opportunities and threats to ‘Tata’ of 
operating globally 
 
Writing is very well structured using 
accurate grammar, punctuation and 
spelling 
 
Well-reasoned and balanced 
discussion with a clear line of 
argument 
 
Clear judgements are made with 
supporting statements 


2 


2 marks 
Good knowledge and 
understanding of 
globalisation and the 
global market 
 
Some attempt to use 
specialist vocabulary 


2 marks 
Good application to 
‘Tata’, manufacturing 
or conglomerate 
businesses 
 
Information from the 
data is used in 
development 


2-3 marks 
Good discussion of the opportunities 
and threats to ‘Tata’ of operating 
globally 
 
Writing is generally well structured 
using reasonably accurate grammar, 
punctuation and spelling 
 
The discussion may be unbalanced 
and focus on either the advantages or 
disadvantages the opportunities and 
threats to ‘Tata’ of operating globally 
 
Judgements are made with some 
supporting comments. 


1 


1 mark 
Limited knowledge 
and/or understanding 
of globalisation and the 
global market 
 
Characteristics are 
identified rather than 
understood 
 
Limited or no use of 
specialist vocabulary 


1 mark 
Limited application to 
‘Tata’ manufacturing 
industry or 
conglomerate 
businesses 
 
The response is 
mostly generic with 
brief application to 
‘Tata’, manufacturing 
industry or 
conglomerate 
businesses 


1 mark 
Limited analysis/discussion on whether 
‘Tata’ should operating globally 
 
Writing shows limited evidence of 
structure but with some errors in 
grammar, punctuation and spelling 
 
The discussion/analysis lacks detail 
and superficial comments are made 
with little development 
 
 
Unsupported judgements may be 
made 


0 


0 marks 
No knowledge or 
understanding of 
globalisation or the 
global market 


0 marks 
No reference is made 
to ‘Tata’ or the 
manufacturing 
industry’ 


0 marks 
No valid analysis/discussion is given 
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Indicative content: 
 
Answers could include: 
 
Opportunities: 
 
Whilst there is potential for more sales in one country, this is limited to a certain amount, therefore 
operating globally offers better prospects with more customers and a wide market available that is 
consuming large quantities of their products. For Tata they have the opportunity to earn increased 
turnover which may lead to increased profits. $60 million earned  oversees so this is already 
happening. 
 
Economies of Scale, Tata is able to negotiate better prices on the things that it purchases particularly 
those that are used in multiple products or manufacturing processes.  
 
Spread the risks of the business if product sales in the India fall then having sales revenue from other 
countries will be beneficial. This improves the company resistance to economic downturns. 
 
Production costs can be cut when factories are placed near raw materials, reducing the cost of 
transport and avoiding trade barriers. Cost reduction can make the business more competitive. 
 
Transport costs can be minimised as Tata can place itself close to the market. 
 
By operating in over 150 countries, Tata has the option of moving operations to a country that offers 
cheaper costs, these could include labour cost, or lower taxes. These reduced costs can be passed 
onto the customer or increase profit margins. 
 
Tata could take advantage of trade deals that allow them to avoid paying tariffs or having quotas on 
the amount of products they sell. This would make them more competitive with domestic rivals. Tata 
make common/popular products that many domestic competitors already make. 
 
Tata employ over 700,000 workers worldwide. Some countries would have lower wage rates so costs 
savings can be made in these countries allowing Tata to supply its products at prices that customers 
in different markets can afford, increasing sales. 
 
Tata operate in many different markets allowing them to establish each one in a new country. Once 
one business is established itself, e.g. car brand another one of Tata’s business could then establish 
itself using the loyalty it has already gained in other markets. 
 
 
Threats: 
 
Despite the huge size of the foreign markets and the potential for growth of the company, it is not 
always easy to succeed in new markets. Some markets will have domestic competitors with loyal 
customers that may be hard to attract. 
 
There may well be cultural differences so that in some countries there is no interest in the 
manufactured products e.g. Tetley Tea Local demand may be different so products may need to be 
changed to attract local customers/businesses. This may incur costs e.g. adapting cars for left-
hand/right hand drive 
 
When competing globally there are many larger businesses that can compete by price and product 
range. Entering the same market may prove costly as prices may need to be lowered to attract 
customers. 
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There may be legal and bureaucratic problems in setting up in other countries. Different employment 
laws mean that factory standards and employee welfare are vastly different in different countries. 
Failure to know these laws may result in fines, legal action by staff, potentially damaging the business 
reputation. 
 


There may be language barriers, communication problems and difficulty training staff. The main office 
of Tata in Mumbai, may find it challenging to communicate over long distances especially with time 
differences. This may lead to inefficiencies in running the business. 
 
Fluctuations in exchange rates may affect the business. Price transparency not always clear. So 
profit margin targets may not be met. 
 
Credit other valid points. 
 
If a conclusion is offered (though this is not necessary to gain the full marks) award comments that 
are developed from the points above, not just repeating the points made in the analysis and earlier 
evaluation. 
 
The bigger market and the consequent higher sales and profits may offset the higher costs and 
regulations found abroad, clearly increasing sales abroad presents huge opportunities for Tata to 
become a successful global business. 
 
Exposure to risks of operating in a number of different countries e.g. if there is civil unrest/ economic 
fluctuations/political instability – could impact supply 
 
Management difficulties due to size – operating in many countries – in many different markets- loss of 
control – reliance on those running the business in each country. 
 
Accept any other valid opportunity or threat to Tata. 
 
 
Conclusion given is reversible. 
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The candidate shows very limited knowledge and understanding of multinational businesses
and operating in a global marketplace. The only accurate opportunity or threat that is mentioned is the 
difficulty of managing a large business. There is no attempt at application or discussion.
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Examiner
only


Tata has businesses operating in many different markets including cars, finance, metal, 
watches, logistics, energy, communications (telephones), hotels, chemicals, construction, tea 
and coffee. Tata employs over 700 000 workers in over 150 countries worldwide with combined 
revenues of over $100 billion in 2018. Over $60 billion of this revenue was made in countries 
outside India.


(e) Discuss the opportunities and threats to Tata of operating in a global marketplace.	 [10]9











